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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2013 C L«X, 2014 
%UÔX›◊Tˆ ( Economics ) 

B◊¨K˜Eı YÁPˆy‘] ( Elective ) 
ªJÙT«ˆUÔ Yy ( 4th Paper : Indian Economy ) 

a]Ã^  f ªJÙÁÃ[˝ H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 4 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

 
1* Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 
 (Eı) ""[˝Tˆ¤]Á„X \ˆÁÃ[˝Tˆ›Ã^ %UÔX›◊Tˆ„Eıı %ÁÃ[˝ "ÿëˆ„îÁ~Tˆ' 

◊c˜„a„[˝ ◊[˝„[˝ªJÙXÁ EıÃ[˝Á c˜Ã^ XÁ*'' ◊[˝[˝ ◊Tˆ◊ªRÙOÃ[˝ Y„l˘ A[˝e 
◊[˝Y„l˘ ^«◊N˛ ◊VX* 

 (F) \ˆÁÃ[˝Tˆ›Ã^ ◊`„îÃ[˝ EıÁPˆÁ„]ÁGTˆ Y◊Ã[˝[˝Tˆ¤X [˝_„Tˆ Eı› 
Â[˝ÁMıÁÃ^ ? 1965-1980 a]Ã^EıÁ„_ ÂEıÁXÀ ÂEıÁXÀ EıÁÃ[˝„S 
\ˆÁÃ[˝Tˆ›Ã^ ◊`î EıÁPˆÁ„]ÁÃ[˝ Y∏JÙÁd]«F› Y◊Ã[˝[˝Tˆ¤X   
H‰ªRÙO◊ªK˜_ ? 1990-Ã[˝ V`„Eı aeH◊ªRÙOTˆ ◊`î-]≥VÁÃ[˝ 
EıÁÃ[˝Sm◊_ ÂVFÁX*  5 + 10 + 5 

 (G) \ˆÁÃ[˝Tˆ›Ã^ E ı◊b„Tˆ "a[˝«L ◊[˝Y¿[˝' [˝_„Tˆ Eı› Â[˝ÁMıÁÃ^ ? 

E ı◊bL =dYÁVX C =dYÁVX`›_TˆÁÃ[˝ =YÃ[˝ "a[˝«L 

◊[˝Y¿„[˝Ã[˝' Zı_ÁZı_ ae„l˘„Y %Á„_ÁªJÙXÁ EıÃ[˝”X* "a[˝«L 

◊[˝Y¿„[˝Ã[˝' a›◊]Tˆ aÁZı„_ÓÃ[˝ EıÁÃ[˝Sm◊_ Eı› Eı› ? 

   4 + 6 + 10 

 (H) \ˆÁÃ[˝„Tˆ ]…_Ó[˝ ◊à˘Ã[˝ EıÁÃ[˝Sm◊_ Eı› Eı› ? \ˆÁÃ[˝„TˆÃ[˝ 

◊Ã[˝LÁ\ˆ¤ [˝ÓÁ„·¯Ã[˝ ]«V–Áÿˆïı›◊Tˆ-◊[˝„Ã[˝ÁW˝› %Á◊UÔEı X›◊Tˆ 

◊[˝‰`¿bS EıÃ[˝”X* 10 + 10 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) \ˆÁÃ[˝Tˆ›Ã^ E ı◊b Y◊Ã[˝EıÁPˆÁ„]ÁÃ̂  aÃ[˝EıÁ◊Ã[˝ ◊[˝◊X„Ã^Á„GÃ[˝ 

=YÃ[˝ ]‹ôˆ[˝Ó EıÃ[˝”X* \ˆÁÃ[˝„TˆÃ[˝ E ı◊bGTˆ Â[˝EıÁÃ[˝ a]aÓÁÃ[˝ 

ÿëˆÃ[˝÷Y◊ªRÙO %Á„_ÁªJÙXÁ EıÃ[˝”X* 4 + 8 

(F) \ˆÁÃ[˝„TˆÃ[˝ Yá˚[˝Á◊bÔEı› Y◊Ã[˝EıîXÁÃ[˝ =„ï`Óm◊_ Eı›    

Eı› ? 

(G) \ˆÁÃ[˝„TˆÃ[˝ aÃ[˝EıÁ◊Ã[˝ Âl˘‰yÃ[˝ [˝Ó◊N˛EıÃ[˝S [˝Á 

Â[˝aÃ[˝EıÁ◊Ã[˝EıÃ[˝„SÃ[˝ Â^Ï◊N˛EıTˆÁ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

\ˆÁÃ[˝Tˆ aÃ[˝EıÁ„Ã[˝Ã[˝ ◊[˝◊X„Ã^ÁG-Â]ÁªJÙX C aÃ[˝EıÁ◊Ã[˝ Âl˘‰yÃ[˝ 

Â[˝aÃ[˝EıÁ◊Ã[˝EıÃ[˝S a+◊EÔıTˆ ◊[˝◊\ˆ~ YV„l˘Ym◊_ 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 6 + 6 

(H) ÊªJÙ◊_Ã^Á Eı◊]◊ªRÙOÃ[˝ a«YÁ◊Ã[˝`y‘„] G c˜›Tˆ EıÃ[˝aeïıÁÃ[˝ 

Eı]Ôa…◊ªJÙ Eı›\ˆÁ„[˝ \ˆÁÃ[˝„TˆÃ[˝ EıÃ[˝ EıÁPˆÁ„]ÁÃ^ ◊[˝◊\ˆ~ ◊V„Eı 

Y◊Ã[˝[˝Tˆ¤X H◊ªRÙO„Ã^‰ªK˜ ? 
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(I¯) \ˆÁÃ[˝„TˆÃ[˝ Ã[˝äÁ◊X-%Á]VÁ◊X X›◊Tˆ„Tˆ Â^ Â^ mÃ[˝”±ºˆY…SÔ 

Y◊Ã[˝[˝Tˆ¤X %ÁXÁ c˜„Ã^‰ªK˜ Âam◊_ Eı› Eı› ? 

(ªªJÙ˜) ◊•Tˆ›Ã^ Y“L„XΩÃ[˝ %UÔÍX◊TˆEı aeïıÁ„Ã[˝Ã[˝ =YÃ[˝ AEı◊ªRÙO 

ªRÙO›EıÁ ◊_F«X* 

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

(Eı) Y“TˆÓl˘ È[˝„V◊`Eı ◊[˝◊X„Ã^Á„GÃ[˝ Y„l˘ C ◊[˝Y„l˘ 

^«◊N˛m◊_ Eı› Eı› ? 

(F) \ˆÁÃ[˝„TˆÃ[˝ %UÔÍX◊TˆEı ◊[˝EıÁ` ◊Eı "a[˝Ô[˝ÓÁY›' [˝Á 

"%‹ôˆ\«ˆ¤◊N˛EıÃ[˝' ? 

(G) ÂEı≥V–›Ã^ aÃ[˝EıÁ„Ã[˝Ã[˝ [˝Ó„Ã^Ã[˝ mÃ[˝”±ºˆY…SÔ =YÁVÁXm◊_     

Eı› Eı› ? 

(H) Eı]Ôc˜›XTˆÁ V…Ã[˝›EıÃ[˝„S \ˆÁÃ[˝Tˆ aÃ[˝EıÁÃ[˝ EıT ˆ¤Eı G c˜›Tˆ 

Eı]Ôa…◊ªJÙm◊_Ã[˝ ae◊l˘ä ◊[˝[˝Ã[˝S ◊VX* 

(I¯) \ˆÁÃ[˝Tˆ›Ã^ E ı◊b„Tˆ FÁ]Á„Ã[˝Ã[˝ %ÁÃ^TˆX C 

=dYÁVX`›_TˆÁÃ[˝ ]„W˝Ó a+EÔı ÂVFÁX* 

(ªJÙ) ◊ZıaEıÓÁ_ HÁªRÙO◊Tˆ [˝Á Ã[˝ÁL„EıÁb HÁªRÙO◊Tˆ Eı› ? 

(ªK˜) \ˆÁÃ[˝Tˆ›Ã^ ]«V–ÁÃ[˝ ]…_W˝X› FÁ„Tˆ Ã[˝÷YÁ‹ôˆÃ[˝„^ÁGÓTˆÁÃ[˝ Y„l˘ 

C ◊[˝Y„l˘Ã[˝ ^«◊N˛m◊_ =‰{F EıÃ[˝”X* 

(L) %UÔ Eı◊]`X [˝Á ◊ZıXÓÁ≥a Eı◊]`X Eı› ? 
 

 

English Version 

 

1. Answer any two questions : 20 × 2 = 40 

(a) "No longer, Indian economy is regarded as 

'less developed'." Argue your case for or 

against the statement. 

(b) What is meant by structural changes of 

Indian industries ? What were the factors 

that caused structural retrogression of 

Indian industries during 1965-1980 ? Give 

reasons for industrial recession during the 

decade of 1990s. 5 + 10 + 5 

(c) What do you mean by 'green revolution' in 

Indian agriculture ? Briefly discuss the 

impacts of 'green revolution' on agricultural 

production and productivity. What were the 

causes of limited success of 'green 

revolution' ? 4 + 6 + 10 
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(d) What are the causes of price rise in India ? 

Analyse the anti-inflationary monetary 

policy of the Reserve Bank of India. 10 + 10 

2. Answer any three questions  : 12 × 3 = 36 

(a) Make a comment on public investment on 

Indian agricultural infrastructures. Discuss 

the nature of India's agricultural 

unemployment problem. 4 + 8 

(b) What are the objectives of India's Five-Year 

Plans ?  

(c) Discuss the rationale for privatisation of 

the public sector in India. Discuss the 

various steps relating to disinvestment and 

privatisation of the public sector taken by 

the Government of India. 6 + 6 

(d) How has India's tax structure undergone 

changes in several directions following the 

tax reform measures suggested by the 

Chelliah Committee ?   

(e) What are the important changes that have 

been made toward India's export-import 

policy ? 

(f) Write a note on the second generation 

economic reforms. 

3. Answer any four questions  : 6 × 4 = 24 

(a) What are the arguments for and against 

foreign direct investment ? 

(b) Is India's economic growth 'inclusive' ? 

(c) What are the major components of 

expenditure of the Union Government ?  
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(d) Give a brief description of the programmes 

adopted by the Government of India for 

removing unemployment ? 

(e) Show the relationship between farm size 

and productivity in Indian agriculture. 

(f) What is fiscal deficit ? 

(g) Mention reasons for and against capital 

account convertibility of Indian rupee.  

(h) What is Finance Commission ? 

    


